= =
S o
) N =
T \HHHO

=
o
B

95% CL upper limit on B(H - SS)
9
N

138 fb™* (13 Tev)

o p S . bB

-+« Median expected — Ms = 15 GeV [ ] 10 expected |
— mg =40 GeV D + 10 expectedg

T Observed — mg=55GeV [ ]+ 10 expected|
1075 L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ Lot
102 10* 1 10 10° 10°® 10
ct [m]
CMS 138 fb* (13 TeV)
,U? l; T \HHH‘ TYT TTTTIT T T TTTTT T \HHH‘ T \HHH‘ T 1177
n F B
) F ]
L107e E
Q F E
- F b
(@] L i
E107¢ E
B C ]
2 r ]
510°%: N S L KK E
| - - = |
(@] C ]
% 1074E Median expected ]
© E —mg=15GeV +1o expectetE
[ — Observed ]
10_5 L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ Lot
10 10° 102 10 1 10 10?
ctT [m]
CMS 138 b (13 TeV)
’(E 1; T \\HH‘ T T TTTTT T T TTTITT T \HHH‘ T \\HH, T \HHT
n F b
T F ]
L 10 5
Q F E
- F b
(@] L i
E07F E
5 C ]
2 r ]
5103 E
3 S-w
§ 107 ; --- Median expected ;
© F — mg=0.4GeV| |t1cexpected]
[ — Observed ]
10_5 L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ Lo
104 10° 102 10* 1 10 107

ct [m]

CM 138 fb* (13 Tev)
(.’,)\ 1; T TT1TT \‘ T T TTTITT T T TTTTT T \HHH‘ T \HHH‘ ' E
n F ]
: F i
L 10 E
@Q E E
c n ]
o L i
E£107F E
E C ]
2 r i
S510°F . 3
3 E S o
§ 10-4 % --- Median expected —m = 0.4 GeV D +10 e><pectedE
E — Observed —mg=1.0GeV D +10 expectedz
1075 L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ Lo
10 10° 102 10 1 10 10?
ct [m]
CMS 138 fb* (13 TeV)
,U? 1; T \HHH‘ TTTTTIT T T TTTTT T \HHH‘ T \HHH‘ T 1177
n F ]
N F i
L 10 E
@ E E
c n ]
o L i
E07¢ E
5 C ]
g, |
5107°F —
E O O |
— F N E
3 g S - KK ]
ﬁ\) 1074E Median expected J
o E —mg=1.5GeV + 10 expectedg
[ — Observed ]
10_5 L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ Lo
10 10° 102 10 1 10 10?
ct [m]
CMS 138 fo (13 TeV)
/(E l; T 11T H‘ T T TTTTT T T TTTTIm T \HHH‘ T T TTTT], : T \HHT
n F b
) F ]
L 107 3
Q E E
c L ]
(@] L i
E10°¢ E
B C ]
2 r ]
510°F S b 3
| C . 3
(@) C ee ]
% 1074E Median expected ]
[0} E — 3
= —mg = 0.4 GeV + 10 expected]
[ — Observed D ]
_5 L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ L \HHH‘ Lot
0% 10° 102 10* 1 10 10?
ct [m]



